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Sample Paper – 2009
Class – XII
Subject – Mathematics 
Time: 3 Hours
 
Max. Marks: 100

General Instructions:

1. All questions are compulsory.

2. The question paper consists of 26 questions divided in to Two sections A and B.  
3. For Section A : Q.No. 1 to 8 are of 3 marks each. Q.No. 9 to 15 are of 4 marks each. Q.No. 16 to 18 are of 6 marks each.

4. For Section B: Q.No. 19 to 22 are of 3 marks each. Q.No. 23 to 25 are of 4 marks each. Q.No. 26 is of 6 marks.

5. Use of calculators is not permitted.

-----------------------------------------------------------------------------------------------------------------
Section- A

Q1.

Solve the equation:
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Q2.

Find the domain of definition of the function 
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Q3.

Express 
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as the sum of an even and an odd function.

Q4.
Determine all functions f satisfying the functional relation 
[image: image4.wmf])
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 where x is a real number, 
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Q5.
Is 
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 a function? If this is described by the formula g(x)=
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,then what values should be assigned to 
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Q6.
An integer m is said to be related to another integer n if m is a multiple of n. Check if the relation is reflexive, symmetric and transitive.
Q7.

Find the set of all x, satisfying the inequality :  
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Q8.

Find the angle:  
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Q9.
Evaluate:
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 at x= 1/5 where 
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Q10.
Let 
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Q11.
Find k for which the set of equations x+y-2z=0, 2x-3y+z=6,x-5y+4z=k are consistent and find the solutions for all such values of k.
Q12.
A function f is defined as follows:
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What condition(s) should be  imposed on p so that

(i) f may be continuous at x=0, and,
(ii) f may be differentiable at x=0 ?

Q13.
Prove that 2 sin x + tan x  
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Q14.
Find the equation of the tangents drawn to the curve  
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from the point (1,2).

Q15.
Investigate for maximum and minimum values of the functions
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Q16.
Evaluate: 
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Q17.
Evaluate: 
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Q18.
Find area bounded by the witch of Agnesi 
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and its asymptotes.

Section-B

Q19.
Find the area of the region bounded by the curve C: y= tan x , tangent drawn to C at x=
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 and the x-axis.
Q20.
In a triangle OAB, E is the mid-point of OB, and D is a point on AB such that AD:DB=2:1. If OD and AE intersect at P, determine the ratio OP: PD using vector method.

Q21.
If  
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Q22.
A ten digit number is formed using the digits from zero to nine, every digit being used exactly once. Find the probability that the number is divisible by four.
Q23.
Solve the differential equation: 
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Or

Q23.
Find the differential equation of the curve for which the initial  ordinate of any tangent is equal to the corresponding subnormal.

Q24.
Find the image of the point (1,6,3) in the line
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Q25.
If x,y,z
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 and x+y+z=0 then find the maximum value of xy+yz+zx.

Or

Q25.
Find the maximum value of f=4x+3y subject to the constraints
[image: image36.wmf].
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Q26.
If A= 
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Q26.
Evaluate : 
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